
29-09-2021

Manual
for 

Wooden Shelter Montane 
2,4x3x1,95 m



615

75°83°

2050

75°

75°

2050

75° 75°

21.5°

1565

82°

1360

75°
1900

75

1990

2100

2200

2400

569

75°83°

1

Part no. Drawing 

Materials
Dim.

Dimensions 
in mm

50x100 2 pcs. 

50x100 2 pcs.

50x100 2 pcs.

50x100 2 pcs.

50x100 2 pcs.

50x100 2 pcs.

50x100 2 pcs.

50x100 2 pcs.

50x100

Screws

Screws

8 pcs.

4,5x60 500 pcs.

5x180 40 pcs.

19 x 200-250 15 pcs.

30x145

Floor boards

Roof boards

15 pcs.

No.

2

3

4

5

6

7

8

9

10

11

12
13

1



6

1
5

7

3

11

11

11

12

13

2
4

9

10
10

8 Back w/battens

Battens back

Battens front
Right side w/battens

Left side w/battens

2

Shelter assembly



Screws: 4 pcs. 5x180mm 

12

Back w/battens

Right side w/battens

Left side w/battens

6

6

8

8

11

11

3

Shelter assembly



Floor installation

11

11 11

11

9

12

Screws: 16 pcs. 5x180mm 

13
Screws: 60 pcs. 4,5x60mm 

Screws: 16 pcs. 5x180mm 

12

4

Shelter assembly



Screws: 84 pcs. 4,5x60mm 

13

Battens front

10

10

5

Shelter assembly



I

For more information 
please visit:
www.dancovershop.com

l

l

l
l

l
l

l

l

l

l
l

Dancover A/S 
Lyngevej 16A, Nørre Herlev 
3400 Hillerød 
Denmark

Head office: 


